2.6km #FHF DB

[=Niva No. XA L K% 708+ H[X
1 7074|1693250 | K2 B/ KZE IR |#40F 7v/3450F 3I[EBR
2 7060(167046% | LR f=2/ £ &R |14 2 1%/91kh A NRELLE
3 707317751 |=H @X/ =8 1@ YRR/ hiT FigE
4 7042|189325% |EE ME/RE  [ER  |Vavh dx en/vaoh AL R
5 70361893368 |d)Il FT=E/HII w7V YAE/70h7 IR F (LB R
6 7048|187342% [RE B/RE Fik W ITYY/AR v )E | BER
7 7066(19313% /NI BRI BRR |40 7 94%/40° 7 /92 |ELE
8 707519168 |FEfE EFEF/EEM  FWRAY v K4 v b IN=IE
9 7058(19327% |#0iB Jeal/Zk  HEHE YA $a ykn/ AN 7 L B R
10 703120708 |HFR BA/HR ME |%7 ) /42 ) iR EER
11 7038(20359% [IHF &t/ T4 EE |13 9 ov/13 Ui |[LBR
12 7069|219302% |3 BIR/FHN BK WA vhw/h13y 144 (ILE R
13 7035(21941% [ILF BR/ILF  BEX YT AYI/XT 144 LER
14 7056210438 |[BEA BR/BER BE |7V L7 2h73/7Y W 1L B R
15 7052(215350% [P RKRES/FART  MIRH=YAT 17409/2007 19| [E B R
16 7032(21363% [#85| EAF/HBA K— |72t % 333/730 ¥ MALSR
17 7068(22739% (BRAR 8Bt/BAA  FHRF |7hy bMrd/7hy a3 |FIIR
18 7067(224054% |BHE E=N/BE KE |8 HMA/48 195 LB R
19 7071(23530% |{E& &£/(ER S VNSNS TN =11
20 7057|239336% |BA EDIE/ AR R 199F /097 el [[KER
21 7064|234342%) [:BH BBE/BH HHY [Hax 7iea/Hax 7vh) |LEBR
22 7024|2345y55% |[f@H BEF/RHE K& 774 $ha/77% Hx [[LOR
23 7051|235 7H |FA Mf3k/FAR HRE |7t 208/7E M0 |[EER
24 7010(245314% [JIITF BUSE/)ITS #8009 40 /h0vh 4 | BiRE
25 7078|243 178 A HGAS//NI BB |40 7 A33/40 7 vy |REILE
26 1047(247339% | K5 &/ K% =M Ar AN VARV v ANV /N =1
27 7077(2573028 (A mE/ AR BE  |WEbty/uthal |EER
28 7020(25735% [JIIA HEF/)IIA Ex |7 /8780 b |EER
29 7026(25741%) AR Ehc/AF BX  |Fvv F/Fvv s HINE
30 7034(26301% |F8)I FEBV/)IIA &N |=907 295 /h7Eb b RS R
31 7072(26202% =& HEF/KEH  HEIL |M32 133/440 v |EER
32 7053(264008% (M B&/HF A afh $bv/51h Ueb IN=TS
33 7044|265322% [EES =F/ B A4 |7 $F3/798 F |IEBR
34 7043(26326% (MR sEX/MR  2E  |4507 134/4007 14 |EER
35 7050(267057% |[RRE MI/fRH KHE W Ay eny | EigE
36 7063|127700% |fE4 K thE/fE4AR  Z4%H* 197 /i 1904 LB R
37 7028|279302% |FEiR] EAHE/FRE M |=V07 v1/zoh7 1A (KB R




7059|273 12% AR ER/FA BN |[FHEh £3/FhEH b IN=IE
7009|274014% [Holladay Chad/Holladayl#)7 1 #vF /#)7 4 7YLLEE
7055(275320% [ AR RE/ AR LK |UF 7 /0K yvr |IEBR
7029|274335% |FEH E54/FH AR |2V wta/=va MY 1 |RBR
7076|27944% |LB84E /LA BA M7 vab/to7 b |RBE
7041(2773A49%) | LB&4 BAZE/LB&4 EBELAMR7 773/ba7 TAL |ILBE
7039(2751% Rk BE/FEE ME M 1I/4M hiT SHE
7021(28>04% [ILFA 42/ 1L BEE  Yedh MU/ redn 7Y |[RBE
7054(28>36% (A& RA/BEE T |/ TR/ A |EER
7030(284343% [ILFE =RF/LME o |veih F/vEh 778 |EBR
7065|289y45% |#E.E HE—/88 L fAF 4PN A9AF/5FH3 29% | LBE
70141299098 |Rit ffE/BH b |t 1p/t 7vb LER
7045|129 14% /1By 88 k//NEF RE |4/ WHE/4) Tha IN=15
7070|3197301% & E/tEE B V74 /4974 v |[LBE
7011|319318% (Rex I A /RER && |90 4 #vh/Ivh 1 1% | BRE
7017(34341% | KR MF/KIE FHFm  |#Y) ¥ 23/41) x| [L B R
7015(345356% (M)l &Z3Biz/m)ll B b0 7 2T/ by 1 LB R
7027|359 07# |ME AE/MWE I |vF v/3F £ IN=1E
7003|363 148 |HFTA KBS/ FES TR |Pvaz rvany/v/4az 3L B8R
7022|369326% |#H BRAL/MNE  FE W vakn/wvs 3y (LB R
7037|1369333% |ER I/ HEE F AN N7 YRL/AEN 792 IR B R
7046(369034% I8 K F/inEF A8 ny) M3/ NI TR LER
7016(367048% [JIIA @A/)IA & |A7Eb 40%/h7b o [LOR
7025(367054% | AR SXF/AN  BEHE |7L7 733/747 LY AR
7013[37211% |ZBE =R/ BE B |30 3vvy/Ivt 7 IN=11=3
7023|370 24% |MH #F/ME EH W vana/wi v |LEBR
7008|3749328% |HTH EE/FH Mk |=vi ¥HF/Zvi a9 IN=IE
7033|387°37% |BElR =F/RRlE BEX MUY Y 23/ ¥ JELE
7018(38454% |l BA/IWT & |vwa a9y Syt |IKEBER
7002|44317% [[RHE B2/[RHE O (W7 Hax/nx eh) |IRER
7007|449729% |HRE wE/HE B Y /ey ) 5y [IKBE
7004|45455% |HE RE/BHE BK  |t4F 10/th% hvg =g
7012|475006%) [tE4 K E/tE4AR & |¥iF 737/ i N1
7019(524332% |#&H K¥/EH HFE |34 X A2/338 0 |[EBR




	小学生＆親子結果

